WRITING VECTORS
IN TRIG FORM

Aren’t you starting the miss the unit
circle just a little? ... 7 =<wse, Sinb)

OoRrR
/ ?\Tzs CosOL + s:aej"
(€ +ne vector is
net, & UNLT veetor: \/
V= |V <cos®, 506>
o kcompmw‘t (v
V= (gl (00392’+$¢\je?><-— Sum of wnit vectsvs

1 .
W\a\o)v\}"('(/\A{ dwrection




O™ o

. i . &((‘P W
Write each vector in trig form. & @«j;‘sw"
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Find the component form of each vector.
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Write your answer in component form.
Round to the nearest 100%.
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Find vector v with the given magnitude
and the same direction as vector .
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